ID:1210 P- 1

P g SR
ESR S TR = 1 =i Q1 IV NI )
Bp 32 A FI074£06 7 28 H eI Dt e/ 75 kv (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]
X R AbE 10. 00| AHxf 366 3, 660 756 581 540
EPN S o JE 10. 00| FA % 209 2,090| 2,160 1, 705 864
H ¥ £ ¥ 15. 00| AHxf 350 5,250 1,296 812 540
E 9 NAEL o 0. 20| FH%f 200 40 130 112 86
H % & I 3. 00| FHxf 250 7501 1,188| 1,160 756
i A ] 1L 1. 00| FHxf 275 275 864 509 194
ENIE sool A%t 7| 35| 2,916 2,700| 2,160
A R 2. 00| FH*} 37 74 864 803 648
EEL = 4. 00 | FH%f 669 2,676 1,620 1,230 648
[ I\ w5 5. 00| FHxf 98 490 1,728 1,259 864
EN N 5.00[ #A%H|  a46] 2,230 1,944 1,694 756
~7 h< | F ) 3. 00| FHxf 37 111 1,188
IR = T 1. 00| AR} 10 10 2, 160
g £ 10. 00| AH % 5 50 1, 296
A= 4 S ) 10. 00 | #H % 114 1,140 1,512 955 756
£ A L 10. 00| AHxf 1, 155 11,550 2,052| 1,451| 1,188
LA A £ ¥ 10. 00| FA % 1, 030 10, 300 1,188 594
Y=L F R £ B 4. 00| AH%F 500 2, 000 918 667 340
AEMEE (i 0. 10| FH%f 1, 200 120 162 120 65
ZDEH & ¥ 0. 20 | A%} 600 120 59 57 54
LU E % 0. 20 | FHxf 150 30 78




ID:1210 P- 2

P g SR
ESR S TR = 1 =i Q1 IV NI )
RHE A FI074£06 7 28 H EFER S 22 b (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

LEV T AU K | 17.00| FHxF 50 850 7,236| 6,998 6,912

5 U H & 10. 00| AHxf 6 60 5,443

K A 5. 00| FHxf 249 1,245| 6,480| 3,701| 2,808

TIUxT K B 0. 30 | FHxf 700 210 436 367 324

% Foak 0. 50 | FHxf 256 128 367 335 270

[ENIIN i 15. 50| fHxf 665 10,313 7,052 5,039| 3,024

/NETE K SR 10. 00 | AR} 15 150 3, 564

Avava 74 U ¥ | 13.00| fHxf 8 104| 4,104 3,658| 3,132

S E & 0. 25| FH*} 441 110 594 493 302




